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11,

INSTRUCTION TO CANDIDATES

Immediately after getting the booklet read instructions
carefully, mentioned on the frontand back page of the question
bookletand do not open the seal given on the right hand side,
unless asked by the invigilator.

Write your Roll No., Answer-Sheet No.,, in the specified places
given above and do your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated,

After opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 150 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct booklet. '

While answering the question from the Question Booklet; for
each question choose the correct/ most appropriate options
out of four most appropriate options given, as answer and
darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle only with Black or Blue ball point pens

Darken the circle of choose option fully, uthﬁwiseapfwus
will not be evaluated. i

There are 150 objective typé questions in this booklet. All /

questions are compulsory and carry ane mark each. "

Do not write anything anywhere in the Question Bookletor

on the Answer-Sheet except making entries in the specified
places.

When the examination is over, original OMR Answer-Sheet is
to be handed over to the invigilator before leaving the
examination hall, while Question Booklet and carbon copy
of the Answer-Sheet can be retained by the candidate.

This Question Paper consists of Parts namely :
(1) First Part - Child Development and Pedagogy 1-30

(2) Second Part - Hindi 31-60
(3) Third Part - English 61-90
(4) Fourth Part - Mathematics 91-120
(5) Fifth Part - Environmental Education 121-150
All questions are compulsory.

In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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FIRST PART

CHILD DEVELOPMENT AND

PEDAGOGY

Adolescents may participate in risky

behaviours because they :

(A) Underestimate the amount of risk
involved in such behaviours.

(B) Only care about having fun

(C) Cannot think rationally about any
of their activities

(D) Tend to both underestimate risk
and feel immune to consequences
as the adults do.

Learners have individual differences, so
a teacher should :

(A) Insist on uniform pace of learning
(B) Increase number of examinations
(C)  Enforce strict discipline

(D) Provide a variety of learning

experiences

When a peepal plant gréws in t6 a tree,

then it become§ a bigger peepal. This

opinion reproo@iNy "mmm . of

development.

(A) Discontinuity

(B) Continuity

(C) Both discontinuity and continuity

(D) Sometimes discontinuity some times
' continuity

|: 3'5-

UH 4

e forehra v fverr e

Fereine Sfigrergut sarerl s & wers ¥ iifey
3.

(A) U el § 2 g ey w1 g
AEE HA F

(B) I HIR-THE Ft TAE H ¥

(C) ot Tt ot nfafafiral & amy &
aifeher ®9 J di e 76w

(D) =ahi % w9 yftond 3 gy frae 5
SEW 1 <A 33 F) v i ¥ |

ferenfefali & dafaes fimrm 2t & oma: forersy
=il afeq i

(A) HrEH #:i % 9aE 1f W SR 3
(B) ufensii #Y Wem # gfg =Y |

(C) TSR HEA #1 e =¥ |

(D) e % fafay sy suwey @)

9 U WI9el 1 AT gt ga aar @ o
e A 81 Jue a9 w1 2 | 7% o9 yef
L ¢ fawE =5 |

(A) fafszemm
(B) fiawan
(C) Tafcssar qen fritaar <
(D) =t fafesem, =4t fitawa
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4 In late childhood pefiod children s, SowEa s ¥ e sfifees TFE &
understand the converpion of which ufteda H THE © 7
physical unit ?
(A) Mass (A) HEA
(B) Mass and Number (B) TN TH e (de)
(C) Number (C) 3% (¥e)
(D) Mass, Number ang Area (D) WA, 3H (gem), &
5. The curriculum of an ihstitution rofers’ | 5. erdl HEe % WIGHHA 3 e ¥
to:
(A) Overall progrgmme of ' the (A) T Tl wrEEA
institution
(B) Text material used in the institution (B) e H ggE Wmﬂ
(C) Evaluation prgcess used in (C) Heen H I e Fiohdl
institution
(D) Pedagogy used i} the institution (D) HEM 7 e Treron I
6. Operant Conditioning theory is called 6. s srgE fagr FIFEAR
(A) Stimulus #Réspense (S=R) (A) ST - A (S -R)
(B) Response - St us (R -9) (B). STfAT - 3T (R - 9)
(C) Ans (A) and (B)[Both (© (A) 7N (B) T SH
(D) Stimulus - Respd nse-Reinforcement (D) IR - AT - TI'@??W
(6,-R-5) (51-R-52)
7. The one word whiclj best cheracterizes, 7. | TeRIGEEN 1 fdraail # wER ¥4 H
adolescence is : =Haa LA 91 Th 5 2
(A) Development (A) fowE
(B) Change (B) TfEEH
(C) Adjustment (C) HHESH
(D) Instability (D) rfeera
e SPACE FOR ROUGH WORK / T% Frd % fod wE
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10.

11.

The National Curriculum framework,
2005 suggests which of the following
examination reforms ?

(A) Class X examination optional
(B) Competative entrance examination
optional

(€©) Class V examination should be
board examination

(D) Up to Class X no examination

MRI is a process of :
(A) Neuroimaging
(B) Pathology

(C) Sonography
(D) X-ray

Which of the following is not the main
characteristic of childhood ?

(A) Physical and mental stability
(B) Relationship with real world
©) Dependency on others

(D) Pleasure in créative activities

Fs T sl 'ﬁT! “F r‘;r"
Cephalocaudal Y of motor

development indicates development
from :

(A) toe to head
(B) head to toe
(C) vertebral column to fingers of palm

(D) fingers of palm to vertebral column

T gzt wwE; 2005 # e @
ferm wlten waieht Qi 5 gemn v £

(A) e X F Then Weww
(B) whwnht waw wan Ao

(C) wen V =it alten &€ qhey

(D) ewm X @k HE qliem T&
TH. AR 3T, i TH Wi ¥
(A) dfren wiafa

(B) ‘el

(C) ‘Hrmme’

(D) Ta-fapor

10. ﬁwﬁa@aﬁ@ﬁqmmﬁwﬁm

fereraan = & 2

(A) W = Amfas fema
(B) arifas w4 @ Hay

(C) <&l W faofrar

(D) TEATHS FET | &g

'rﬁ ﬁmmaﬁmqmm%ﬂg@ﬁﬁm

Forrrer 1 T ¥

(A) W F S § veaw 7%
(B) #&F ¥ W F aiqy aw
(C) #EaE A welt &t sifer) o
(D) =l = sifordi § Tede q%

SPACE FOR ROUGH WORK / 7% & & fordt e
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12. Level of mild hearing lops is : 12, e sEw Al W WL E
(A) 0-25db (A) 0 - 25 TH=
(B) 26-40db (B) 26 - 40 SHEA
(C) 41-55db (C) 41 - 55 SHIE
(D) 56-70db (D) 56 - 70 THEH
13. One characteristic 0 pre—operational 13. EUTRATCTR fefert 1 fororet
thought is :
(A) Centration (A) =
(B) Conservation (B) CIERING
(C) Horizontal dicalge ©) ofwfexs’
(D) AB error (D) T A
14. In Piaget’s theory hetpronomous morality 14 farst & fagra # WOHE Afawd
is seen during : = %ﬁﬁﬁ@ﬁﬂ@ﬁf%l
(A) 1to4 yearsio [ge 8 e (A) 18478 H
(B) 4to7 yéars of pge B I (B) 487 T H A
(©) 7 to10 years of age f © 7 & 10 HH
(D) 10 years onwdrds (D) 1074 F S
15. When a chemotherppy patient becomes 15. W@ﬂﬁrmma’a@mﬁ oA
nauseatic at the sight of the hospital, the £ 2R @ Se dW T q@ A
hospital has becomp the : A T RN
(A) UR (A) IR
B) CR (B) H.IW.
€ US (€) I
(D) CS (D) HLEH.
SHACE FOR ROUGH WORK / T® =T & o S
Set - A 6 0172/ EE-FT/ELG-M




16. A provision for education for the children 16, 919 sTavasar art @i #1 foen ¥ fem

with Special Needs can be done YA foHa < wehen ®©
through :

(A) Special schools (A) foeie wen & wem |
(B) Integrated education (B) Uik finenm gry

(C) Inclusive education (C) wwEst foren gr

(D) None of these (D) T8 & #1E 7E

17.  Primary emotions at the age of 3 months ~ 17. 19 W& 3 aaee F URIESE Fam g

are :

(A) joy, sadness, disgust (A) wE=, 3T, gon
(B) joy, sadness, empathy (B) wHw, ST, Wyfa
(C) joy, disgust, jealousy (C) W&, gom, e
(D) sadness, disgust, pride (D) are, gom, e

18. A group of studentsiare fodnid to bel’  180Br F1 UF TUE 37 BET F TH TG

harassing another students. What should R grEn A SRt wfafeme = g
be your reaction ? : - wIfgw ?

(A) Punish the students (A) BHEl F sfrzd wE

(B) Send for their parents (B) UIeTehl =l TH & fofu S

(C) Counsel the smdent; individually (C) o =i =frg di T T 3

(D) Give them severe warning (D) 3% *S! SarEEr &

SPACE FOR ROUGH WORK / % %14 % f&od wmg
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19.

20.

21!

22.

Research has shgwn that normal
adolescents are likely to experience three
kinds of problems. W hich of the following
is not one of them ?

(A) Parental conflict
(B) Mood swings
(C) Fears of intimcy
(D) Risk taking

In Vygotsky’s theory of cognitive
development scaffdlding means :

(A) range of tas]i that are too difficult.
(B) changing th

(C) use of mofe skilled peers as

9°]

level of support.

teacher.
(D) effectively agsess the childs ZDP.

eldfed to which of the
nality of a child 2

(A) Mental
(B) Physical
(C) Moral
(D) Emotiona |

In which of the following stage, tendency
of repetition of ¥ ords are found mainly ?

(A) Infancy
(B) Childhoofl
(C) Adolescepce
(D) Adultho d

fom

19.

20.

21.

22.

mﬁmﬁmaﬁmm’énﬁmﬁ
AR A TE T ?

W%Wﬁm%ﬁq@aﬁ

“rmifeen’ = 31d :

(A) @ﬂﬁﬁ'@ﬁiﬁa@ﬁﬂ%l

(B) TEral 3 TR Sger |

(©) ﬁ%ﬁwﬂuﬁmﬁﬁlﬁ%
w9 § STEm FE

(D) = % S, H AuwERed T
A HEAT

ﬁmﬁﬁaﬁﬁ@mmﬁmﬁﬁw
<} wafa s wa @ TE S &7

Set - A
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23.

24,

25.

According to RTE Act, 2009 in which  23.

class, 25% seats of the students from
weaker section should get admission in
neighbourhood primary school ?

(A) Class-1

(B)  First class of the school

(C) All the classes of the school
(D) Class-1and-2

According to naturalists, the main role in ~ 24.

development is :

(A) Heredity

(B) Nurture

(C) Heredity and environment both

(D) An interaction of heredity and
nurture

The main difference between assimilation 25.

and accommodation is that :

(A) assimilation is the use of existing
schema, whereas accou@odanm

is the creation of new schemas.' B

(B) accommodgﬁo’f}j !ig" the use of
existing schem e, where Ié‘# t
assimilation is the creation of new
schema. '

(C) assimilation cannot

without accommodation.

happen

(D) accommodation is acquired more
readily than assimilation.

T &1 sferm arfufrm, 2000 % aER
aifera =i < ferenfeledi 1 fremeca mofies wen
&I foe Fan % 25% @ A worw femn S
=ifeq ?

(A) el et

(B) men =Yy wew A

(C) viien St TR Hepst

(D) Hem -1@m-27%

W%Wmﬁmw

(A) orgaifeERT =+t

(B) e I

(C) SrgaiferRt qen AEE S *i
(D) TRt e e = aia:frar =3

STICHEI o FHs H e 37w & fon

(A) ATHET A B =0 STA1 &, Faiieh
GHSH T4 g H G ® |

(B) HHSH AN @ 1 394N §, afw

ST T B g

(C) sTerAETaA THEHA & famr =& &) weran |

(D) wammaﬁgamﬂ SRl AT
B

~ SPACE FOR ROUGH WORK / T% & & ford @
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26. To study the probl¢gm of infants and
children which methpd is appropriate ?

(A) Survey

(B) Case study
(C) Psychoanalysi
(D) Observation

27. The main differenc¢ between cognitive
Jearning and ope
that :

(A) operant con

int conditioning is

Jtioning only works
animals.

ing does not require

with non hu

(B) cognitive le
(C) cognitive 1 prning is a human
(D) there are no|{ignificant differences

between coghitive learning and
operant conditioning.

t

Ny e N
e |/ with the Bobo doll;

de the children’s
observational lg¢arning even more
effective ?
(A) If the modellhad high social status.
(B) If the model frowned when hitting
the doll.
(C) If the childrgn paid less attention to
the model.
(D) If the children had never seen a
Bobo doll bpfore.

26.

27.

28.

ﬁwﬂaﬁaﬁt@éaﬁi‘iﬁwﬁﬁmm
fafy = € ®2

Wmﬁﬁﬁﬁaﬁaﬁmﬁg@
e fH:

(A) ﬁﬁfﬂﬁfaﬁa’ﬂﬂﬁﬁﬁmﬂﬂﬁfﬁﬂﬁ
o foramfier B € |

(B) HamATHS® HA{HTH ¥ wicared &1

. STerEe e el |

(© T ST T W T

(D) @R s = Afafa e
3 Fré el of T €1

a\a‘rg@m#mﬂw%ﬁwﬁaﬁw
e 3 TR 1 Y& arenfyyes gfed
A el o Frorfir 3 sl o DieFoenen AfETH
=1 3 aifres FeTERTE S e 7

(A) o iteer o g fefa S A |

(B) e v sl T B HIR W Hee
T B S |

(©) ofe s=if 3 ‘oted’ WA @F e
B |

(D) afe a=i 3 TEA Hft de e T
Tt B |

(o =Y

Set- A 10
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29,

30.

The notion that adolescents experience a
period of storms and stress is :

(A) True of all adolescents
(B) True for some adolescents
(C) False, according to most research

(D) False, because most adolescents
show little inappropriate emotion

Imagine that your dog drools every time
you open the refrigerator door. If you
wanted to extinguish this behaviour using
learning principles, you could :

(A) give the dog food from refrigerator
only occasionally.

(B) give the dog something/\ from the
refrigerator if it barks/ :

(C) repeatedly open the refrigeratrir
door without ever giving the dog
food.

(D) reward the dog with some food that
you store in the bathroom.

9.

30.

& YR T, fheiR %M o @E #) ety
FIHI FAE, &

(A) |4 fFeiRi & forw v
(B) F® foreili & fou g
(C) s, sifueie sy & sran

(D) 7, Fifeh srfereniv farvir sy
Tam N At § yefdf @ ¥

FETA F TR F, o o 379 Wi
1 WA Wied €, TR sewr ¥ afe e
U 30 RN 1 AT 3 fagia w1 3w
T BU THIS F1 TR & A 377

(A) ARSI 1 SHETT Bre W af-wit
il I IS 3|

(B)_3fs o slishar € @ =8 Uirsiez @

IS

© IFEE 1 TS SR Wt wig

Tl 1w o sirem W 9N

(D) =neres H 9 Ao i 3o 1 1 go
Exull
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31. Trmiferd weg g |3’ /-
Sy

(A) fafem, =iiq]

(B) g, I, He
(C) 3irm, fopam)| st
(D) Wi, T i

32,

33.

34.

35,

36,

3z

38.

‘wfrpe w w0 % fore’ Sfam geEw S
(A) S T ERTT

(B) 3317 T

(C) == &g Bl

(D) T 3@ q G|

e ford wreg Tl & < fam
(A) oTceH, TE, Th], A1
(B) <, BE, ISR, TR

(C) =1, &, @, g
(D) uRER, §H, sicih, e

a1 3 T G T R
(A) 3TERien

(B) drar

() afafi/ st

(D) 332

1eg To fafy & emuR =R fafiat §
(A) W, qgE, 39, fae

(B) fa=rrdl, arformrdt, Aifiren, fafsra
(C) TeHw, dgYE, 3T, TId

(D) 3I9E, Yoy, Gfy, gam

V=1 % el 1 - FHeea
(A) =i fadg

(B) dg¥E

(C) wreEehYA

(D) fopfa

Set - A
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39. ‘HRa’ vreg W wfy e R
(A) f:+w
B) #:+mm
© f+w
(D) +t+ @

40. o7 w9 =1 Semev e &
(A) STt
(B) f&g
(C) wawy
(D) wwre

41. Yed §Y 1o wugA 1 wfEa mu
(a) V=T ¥ Y GHg
(b) UEF N YH e
(c) TEH = 9N I & TfeF TH
(d) 91 F1 HeHf a1 iRy a7y Hee
(A) (d), (), (c), (a)
(B) (9, (a), (b), (d)
© @ ®), (o), (@
(D) (), (@), (c), (d)

42, o 5 e € 2
(A) Jumf Hr
(B) N faesi 1
(C) W =
(D) 9= & 37} =i

43. & =i wafrl 4 9 s =
(A) ,9, 9%
B) T I, UH
© 3T 9a
(D) &394

4. FYF o s .
(A)
(B) 3fa
©) sfa
(D) &=

45, aﬁfﬁwﬁ@#ﬁﬁw‘mwﬁ@
59 e #1 affys mea 22

(A) & ISR, W S Ft e 5
SYATT ey |

(B) & sifyeafam, s diay =) drearfi
FAT F ST HY |

(C) oA sfireafam, o w1 vrefeq
RN A ITIAT T 8

(D) W&l =RV, YF 9N T AT SHqrHw
1 e

A6, ST W T FgE oF @ A &
% o

(A) o o
(B) 3umt g wreg
(C) =

(D) e oreg

SPACE FOR ROUGH WORK / T% @14 & ferar e
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47. W A %@ e e T ¢ 51. e Ffea & sfacirsd adt e §,
(A) T T R i
(B) o | ? (A) T == &1 aftenfien, sifrafi,
; Jeie ¥ R 3 e staeieq s
(C) HIH T & al
(D) fag (B) Toars =@ &1 swiig=nfies, frafia,
EE g 9 Rede e Fta
Gl
48. “‘vh9 ‘SR |g@ sinm w@n k|
Gi‘laqmmaz%;ga b b g (©) Towes =i &1 s, faf,
yEufaa 3 R 7w gu s
(A) ufEmEEE fagm FA R
(B) o fedryor (D) foers 7= =1 sirwafis, sifwfi,
(C)  ToraTe e g g 1 W@ gu se
EaG
(D) favrsy fagmor
52, ' g
49. ThA I |/ e € YHD o= SHSHR 2l o il
g (A) woidE O ¥
(A) arer s (B) ATanedw a1 ¥
(B) - L (C) Tawele amery &
©) | (D) GHdrlF a ®
(D)
53. =YW EEen ¥
50. faw T v F wheE T R (A) e T A1 HE wgfa e Few
| ST H |
(A) = (B) et W 3R o uftsm 2 ¥ e
(B) s qrEAm A |
(€) T (C) wm HiER &g Sae @d aREd )
(D) 7= (D) T el &l T Gehal |
SPACE FOR ROUGH WORK / 1% & & ford e
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54.

58,

56.

57.

ferenfefel &g wgn Wi ¥ forg v s

B

(A) WHE: YgHT I I TUE YA

(B) HNIYAR UG W IR 9% ThI 7
AT

(C) WMl § Y Afsh ST T THz uF |

(D) el SR 9 Y[g a9 W & s 3
S w9= 7w

e & Heof F strerer w1 IR 9

(A) == F 9 t www, fafie geff §
STINT Y e, SHH! HieateTs e
1 I 9 YSIE & 1 i 8/ )

(B) =l % e Tgi-fored ¥ Five §
ST 1 S B |

(C) == =l U= TIEl § = 9 F
e

(D) =il %1 ¥ H9a1, A F14 ° Ygd
foram & Fiwe =t S a

‘ﬂﬂa#mﬁwmmm’#m
399 fares g

(A) &S = T |

(B) BUR WIg F 3

(C) it % S STEim,

(D) &7 3 @ sl |

“S{11a1 femmmn’ werew w1 aref ¥
(A) HrEr e

(B) M T HTAI

(C) a3 e _

(D) 3i7et =i femmm

58. =l % WewAiwA ¥ forg s nfafafiat o

59.

_60.

S, A8
(A) F& T F T awelt wffafet § s
A Ifeh TR 3 foFey SR 8

(B) & H I I areh nfafafial & @ w
HH TR 9 T FETER A )

(C) e # =t WM ATt fafafiat § arem
@ T IHH TR o foFE FEHER A
Gl

(D) F& # H: S T nfafafugl & &
Y g ¥ SHHER w1 F e ¥ oft
S

5 gia 3fea s 9w I, S owe E

(A) Aumelt

(B) wegcwEHfa
(© T
(D) femiy

it T 3 Hf v F i T & e
1 et TAE ) o T 7w e A
Ff ¥

(A) o gar fom arga s

(B) o & s ach & 7
(C) TF 9y Fwr

(D) ®BreR foram ¥ |
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number 61 to 68 :
answer the questions
pis of the information

Directions for questi
Read the passage an
that follow on the ba

@ [men who seem to be
always on the lookout [for trouble and, to tell
the truth, they are spldom disappointed.
e would think that this
world is one of thd|stormiest and most
disagreeable places. Yé

a bad place and the diffi

Ep out expecting people
and brotherly, will be
surprised at the kindne
most unlike quarters, A
with a respective smile
as apt to provoke a sna
same neighbourhood mdy live vastly different
lives. But it is not the n ghbourhood which is
quarrelsome, but the mah within us. And we
have it in our power to_chan our
neighbourhood into a 1 asimt_ﬁne blgﬁmpjfr
changing our owrl§ o N ;
61. 'we have it ﬁ'ﬁiﬁ to nl& ll
neighbourhood " 2
Which of the giver] alternatives change
the above sentende into appropriate
negative statemenq y
(A) We do not hate it in our power to
change our ndighbourhood,

(B) We does not Rave it in our power
to change our |neighbourhood.

(C) We have it i our power to not
change our ngghbourhood,

(D) We never had it in our power of
changing our|feighbourhood.

62.

63.

65.

Choose the word nearest in meaning to

the word ’ Seldom ’ of the passage :

(A) often

(B) rarely

(C) frequently
(D) always

Which of the following is opposite in
meaning to the expression thin-skinned’
in the context of the passage ?

(A) Insensitive

(B) Intelligent

(C) Awkward

(D) Obstinate

‘Men' is a ;

(A) proper noun
(B) common noun
(C) material noun
(D) abstract noun

“..... they are seldom disappointed”, The
above statement denotes that such men :

(A) welcome difficulties as a moral
booster.,

(B)  generally do not fail to come across
troubles.

(C) do not have to face any trouble.

(D) manage to keep unruffled in the
face of discomforts.

SPALCE FOR ROUGH WORK / T% &Td % fergy e
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the man who goes out expecting
people to be like himself, kind and
brotherly, will be surprised at the kindness
he meets even in the most unlike quarters.

The above statement shows that people’s
reaction to our attitude is :

(A) Generally indifferent.
(B) Surprisingly responsive.
(C) Often adverse.

(D) Mainly favourable.

67. The passage is about :

(A) our disagreeable and hostile world.

(B) a kindly and pleasant world.

(C) our different and unresponsive
world.
(D) the world and what one makes of

it.

68. The author’'s owmwiewrof the wgo!‘ld is
that it is : '-
(A) one of the loveliest places. i
(B) an unpleasant and turbulent place.
(C) one’s own excessive sensitivity
makes it a bad place.
(D) asordid place who suffer in life.

e

Directions for question number 69 to 75 :

Read the passage carefully and answer the
questions based on it.

Many men and women are so money
minded that they do not undertake any serious
work that does not pay. They believe that it is
foolish to exert themselves for study and brain
work which cannot be converted into cash.
“Hard work only for money, and then plenty of
play and pleasure’: this seems to be their rule
in life. They value intellect only as the key to
material prosperity and regard personal mental
development as a foolish fad. This miserable
materialistic psychology is very deep-rooted in
all classes of society. Rich and poor, all suffer
from it. An old working woman complained
to me of her son’s habit of occasionally buying
some books, and said, “He wastes his money
on books. What good are they to him? Heisa
carpenter, not a schoolmaster”.

69. Pick out the word which is most nearly

opposite in meaning to the following

word as used inthe passage.
OCCASIONALLY
(A) Sometimes

(B)

(C) Frequently

Rarely

(D) Closely

SPACE FOR ROUGH WORK / T @14 & for&l =g
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70.

71.

72,

73,

Which of the follow|ng is true in the

context of the passagg]?

(A) The rich are maferialistic.

(B) People from all jwalks of life may
exhibit materialifm.

(C) No one is mater ]ah'stic.
(D) Only women ard materialistic.

According to the passafze, money minded
people value :

(A) Intellect

(B) Study

(C) Material benefi

(D) Aesthetic pleas:jes

Pick out the word which is most nearly
the same in meaninglas the following
word in capitals as us¢d in the passage.

KEY

(A) Access

(B) Code

(C) Answer _

(D) Musical note™ ||

Why do many people| pot like to buy or
read books ?
(A) Because they do|hot have time for

it.
(B) Because they dolnot understand

books.

(C) Because they do% ot get books.

(D) Because they thigik that books do
not help them m‘ petting money.

74.

78,

76.

“Hard work only for money, and then
plenty of play and pleasure : this seems
to be their rule of life.”

The main verb in the above sentence is :

(4) play
(B) rule
(C) - plenty

(D) seems

Many men and women are so money
minded that they do not undertake any
serious work that does not pay.
Identify the sentence that correctly
converts/transforms the above sentence
using “too” for ‘so ..... that” without
changing the meaning.

(A) Many men and women too are
money minded to undertake any
serious work that does not pay.

(B) Too many men and women are
money minded to undertake hard
work that does not pay.

(C) Many men and women are too
money minded to undertake any
serious work that does not pay.

(D) Many men and women are too
money minded and that is why do
not do any serious work that does
not pay.

Which of the following is not a speech
disorder ?

(A) Morphological disorder

(B) Fluency disorder

(C) Voice disorder

(D) Articulatory disorder

Set - A |
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78.

79.

80.

Which is the most suitable resource a
teacher has for teaching vocabulary ?
(A) The tape recorder

(B) Pictures

(C) Texts

(D) Television

Grammar in learning a language for
communicating ideas verbally and
written form provides :

(A)
(B)
(&)
(D)

Techniques for writing
Content

a framework or skeleton
Satisfaction

Choose the most appropriate statement :

(A) Writing is supreme.

(B) Speech is supreme.

(C) Writing and speech do not influence
each other.

(D) Writing systems may derive from
speech, in a historical sense, but in
modern society the dependence is
mutual.

(@) Thorough

(b) Frequent pi

(c) Co-operati

Which of the above are general principles

of remedial teaching ?

(A) (a) and (b)

(B) (a) and (c)

© (b)and (©)

(D) All of the above

81.

82.

Gathering only facts without trying to
understand the content while listening
is:

(A) Strategy of effective oral

communication.

(B)
(©)
(D)

Barrier to speaking effectively.
Strategy of effective listening skill.

Barrier to effective listening skill.

As a test of ability in speaking, listening,
reading and writing, the only favourable

thing about translation is :
L (A) Translation questions are easy to set.
(B) Translation is slow to grade.
(C) It encourages the abuse of
translation in the classroom.
(D) The grading of translation tends to

be unreliable because of the various
ways to translate which the scorer
may or may not allow.

Which of the following is not a learner
factor in second language acquisition ?

(A) Age
(B) Health
(C) Intelligence

(D) Aptitude

SPACE FOR ROUGH WORK / o @i o ford wme
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84. A child learns th¢ first language

through :

(A) Speech
(B) Reading
(C) Writing
(D) Mistakes

85. Dictation does not tesf :

(A)
(B)
(©)
(D)

86. The limitation of oral
that :

(4)

(B)

(©

(D)

Spelling
Word order
Recognition of fdrms of words

Some problems df inflection

communication is

It is irreversible-what is said cannot
be taken back.
It is easy to be
language.

It is not faffec
feelings. 0

aware @ our bady
473 5 ¥k

)

It does not reqfiire on the spot
thinking much.

87. The effectiveness of lanfuage depends on

the speaker’s ability to

(A)

l1se :

Long sentences. !

88.

89.

90.

English language skills are :

(A)

(B)

©

(D)

Listening, thinking, speaking,
reading.

Writing, speaking, skimming,
reading.
Listening, speaking, reading,
writing.
Speaking, scanning, listening,
singing.

Identify the statement which is FALSE
regarding the principles of language
teaching :

(A)

(B)

(©)

(D)

Teach reading and writing first,
listening and speaking next.

Have students memorize basic
conversational sentences as

accurately as possible.

Establish the patterns as habits
through pattern practice.

Keep the vocabulary load to a
minimum at the beginning.

A naturalistic language sample can be
obtained by :

(A)
(B)
©

Having a student recite a poem.
Having a student read a passage.
Interacting with the student while

(B) Foreign words. J] playing a game or having a
(C) Figures of speech| conversation.
(D) Simple Ianguaga!. (D) Interviewing the student.
| .
SPACHFOR ROUGH WORK / 1% &Td % ferl -g
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91.

92.

93.

FOURTH PART

MATHEMATICK

Two pipes A and B respectively fill a tank
in 20 minutes and 30 minutes. If both
the pipes are opened simultaneously, then
how much time is required to fill the
tank ?

(A) 50 min

(B) 10 min

(C) 12 min

(D) 25 min

In an examination the average marks
scored by 120 examinees is 35. The
average marks of pass examinees is 39
and average marks of fail examinees is 15.
The number of pass examinees in the
examination is :

(A) 100

(B) 125

(© 140

(D) 145

Ram sold two cyeles.each for ¥ 990. If
there is a profit of 10% on one cycle and
10% loss on other, then what is the total
purchase price of two cycles ?

(A) T 2000
(B) ¥ 1980
(C) T 891
(D) T 1090

91.

92.

93.

Tqel 9T
T

3 R A 31X B TH 3% H1 wAw: 20 e
3 30 fofe § W Tehd €1 Afg 1 I8Y TR
g @ fau o, A 3 & A § TR
Y ST ?

(A) 50 fame
(B) 10 fue
©) 12 fae
(D) 25 fie

—

et aien & 120 wienfef=i gy w i 1
siro 35 %1 el w1 afEa 39 @
R Tl whenfefi 1 oied 15 %1 TEn
# 3ol qfienfada %1 gEn @

(A) 100

(B) 125

(C) 140
(D). 145

T 3 & aEfEel T T 990 % T H =

I 3/ T TERRA W 10% @19 37 8 3
<ot TEfeRe W 10% i g 2, A SR afehe
1 %ol I oI R ?

(A) T 2000

(B) ¥ 1980

(C) T 891

(D) ¥ 1090
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94, 'According to
(1964 - 4¢
mathematics,

on the unders

(A)

the Education Commission
){ in the teaching of

qmphasis should be more

(B)  mechanichl teaching

©
(D)

all of the

mathematical computation

ove

95. Ifarightcirculas Fylinder is heated in such
2 way that its rdius and height each is
increased by 18}, then the increase in
volume of the sqffd will ba 3

(A) 1%
(B) 1.01%
©) 3%

(D) 3.03%

96. Ina cylinde

of equal shapes ¢
Then how many

(afsf:

' be kept in 1 minute.
ice cubes of same

dimension can be lkept in a cylinder of
1 mm in 60 second|?

(A) 10
(B) 60

cannot be deﬁrmined

94. foem amim (1964 - 66) F AR, TftTery

85,

96.

foem 4 sy Wiy 1 9HFER 9T 7y
=gy ?

(A) Ter fagr
(B) == firaqor
(C) ity gfiem
(D) SuEa buft

ﬁﬁﬁ%%ﬁaﬁmmﬁmﬁw
TER T A ST R gt ey 3i
iﬁﬁﬁﬁml%wmﬁrm%aﬂw
T gfe @nft .

(A) 1%
(B) 1.01%
€ 3%

(D) 3.03%

TF H, ﬁm%wmﬁwﬁwﬂ'
wwﬂ%swaﬁ:@mm‘%f
ﬁmﬁrftr.ﬁm%t{a;ﬁmﬁﬁnﬂawgﬁ
wm%ﬁmﬁmwr@mm%?

(A) 10
(B) 60
© 5
(D) freifa =& famm <7 wrepan

Set - A
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97.

98.

899.

The value of

oy 167
D) =3

In the teaching of mathematics we move

from known to unknown in :
(A) Induction method
(B) Project method
(C) Heuristic method
(D) None of these
T

Mathematical games mdru%ﬁ]fﬁ are
examples of teachmgmﬁthmm by :

(A) Play - Way Method
(B) Problem Solving Method
(C) Laboratory Method

(D) All of these

97.

98.

163
B 7

167
72

Tifre forerr & T | ST SR T €

(A) s fafy 3
(B) e fafa &
©) wffes fafu &

(D) T A wE A

 Tiforef A T weTerd it e 3 e
2 B

(A) -9 fafi
(B) Tmen g faft
() wanTmen fafy
(D) T & aedt
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4
100. By travelling 4t a speed = of the original

5

2
speed , a man| reaches 1“2-hr late. What

is his original feaching time ?

100, 7Y TRt T @ ::-nﬁrfraa?f%@'

wﬁal%‘a@%ﬂﬁqﬁ'ﬁm%l T TE
WWW%:

(A) 15 hr (A) 1.5 9w
(B) 12hr (B) 1.2 %2
(€) 6hr (C) 69w
(D) 12 hr (D) 12 5w
101. Assessment is tnost clogely related to: 101, 3Ther T FrFza Taiy B & -
(A) Content f the subject (A) frogag @
(B) Assessment methods (B) reRer fafirdi @
(C) Objectives | (C) =¥
(D) Noneof the & : (D) ¥ | ard
. |
102. Generally learning mathematics is  102. |MI: 7T =T B 2 2, i
difficult, becauii :
(A) Its naturelis basically abstract (A) 9 wHfd o o d €1
(B)  Children don’t want to learn it (B) ==X 38 Te 1 uea ¥
(C) Non availability of good teachers (C) or= faeri =1 Suerer %17 811
(D) Teaching methods are flawed (D)  Tovaror faferai <ot ¥
'BPACE FOR ROUGH WORK / 7% & % ferd e
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103. Ismail and Puja had some money in the  103. Teres 3l T % U 7 3 % que H §9

ratio 7 : 3. Ismail had ¥ 490. If Puja’s R Y TR F UM 40| A F
money consists of only ¥ 10 coins, how urg 8 Few g6 w92 & el # € @
many coins did Puja have ? ¥ T Fot fohe e €2
(A) 18 (A) 18
(B) 20 (B) 20
© 21 © 21
(D) 23 (D) 23
104. If 179 x 48 =8592, then 85.92+17.9=: 104. afg 179 x48=8592 & @ 85.92+17.9
B
(A) 4.8 (A) 4.8
(B) 48 (B) 48
(C) 0.48 (C) 0.48
(D) 480 (D) 480

105. Which of the following is a special ability ~ 105. f1#1 # | FH-§ & Tfora forerer =1 fas
of a mathematics teacher ? I § 2

AR gl e
(A) Ability to expeﬂm‘-ei'gt gﬂ_;h T (A) Tifom SHeROl 1 TR F R A
mathematical tools -
i I

(B) Ability to conduct mathematics (B) TIUTT e Helrer W ArAd
classroom

(C) Knowledge of different teaching ©) fafi= e fafedl 1 99
methods

(D) All the above (D) T Wt

SPACE FOR ROUGH WORK / T% @&d & for&t -7ig
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~= 106. Folk algorithms

107.

performing : |
(%), s d
(B)
©

measuren

estimation

are useful for mentally

peraiions

ent

(D) all of the above

The value of

J10% of 30 +
is:

(A) 0
®) 1
© 2

(D) 4

72 108. The difference of the place value and the

40% of 30 — /90% of 30

106.

107.

108.

HH Tofien AEfaw 9 A few s &
fore Iyt &2

(A) wem wimand
(B) WA
(C) gamA

(D) 3udrEa Tt

J30 F110% + /30 & 40% — /30 I 90%
FIAAE

(A) 0
(B 1
© 2

(D) 4

26549 § 5 % TG 7 IR eifhd 7= F

face value of 5 in 26549 is : FWE :
(A) 0 (A) 0
(B) 395 (B) 395
(C) 497 (C) 497
(D) 495 (D) 495
' SPACE FOR ROUGH WORK / 7% &4 & o g
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109. Three coins of same meaure (1 cmradius) 109, T & T (1 A FeEEr) ¥ d foan
are kept on a table in such a way that ﬁﬁﬂwm@%ﬁ'a@@’tﬁm
they touch each other. The area of the 0 31 fagi g0 39 & = TY & &l
field formed by the coins in between is : STRE B0
(A) (-E = J@} sq.cm. (A) (E - J@] Euk-u
(B) (\@ s %) sq.cm. (B) (\B = g) Eulkeiil
m v
(©) (2\/5 = Ej sq.cm. (C) [2J§ = E] 1 gt
w ™
(D) [3\/5 = 5) sq.cm D) |33 - 5) i et
110. Which of the following learning strategies 110. ﬁﬂﬁﬂaﬁ?wﬁtﬂ'@e{ﬁtﬂlﬂﬁﬁ.@ﬁ?ﬁ
are not developed by B.S. Bloom ? gr forerfoa =& 1 6 ?
(A) Division of contents into units (A) foromaeg &1 gl H faurs
(B) Diagnose the learning difficulties (B) dr@a# syareh HiSARA 1 TRl
(C) Attain mastery level by teachers ©) forereni BT AR W W< FHEA
(D) Administering unit test (D) T Ter 1 Fem
111. A money-lender comes to know that his 111. fo&d TRFR 1 a1 g & aiftis ==
annual income is reduced by ¥ 61.50 : 3
because the Annual rate of interest is 1 T 8% A 71 % T ST
= B B R B ol Aififa 37 A T 61,50 1 FHH 3T T IR
reduced from 8% per annum to ?Z%i ‘3::'[‘[ off -
What was his capital ? |
(A) T 22400 (A) T 22400
(B) ¥ 23800 (B) T 23800
(C) T 24600 (C) T 24600
(D) ¥ 26000 (D) Z 26000
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112, While addressing number operations  112. W& wfwaneil w1 sad a9

stress should be on understanding : ¥ GHY W SN <A1 =i
(A) shapes (A) SRR

(B) patterns (B) A

(C) data handling (€) Aiweg I
(D) all of the above (D) Sl @t

113. The HCF of two numbers is 8. Which of 113. @ HEns % HEaH gHHads 8 CARGE

the following cannot be their LCM ? freferfea & @ H-€ e AR agad
A T & Hehdll ?

(A) 32 | (A) 32

(B) 56 (B) 56

(C) 64 (C) 64

(D) 76 Ey | SRESt 8 ' (D) 76

114. If all positive divisorsof 132 are arranged ~ 114. Az 132 F Tl SR WISTR] I Hed FH

in descending order, then what digit will ¥ eafter fora Sl €, 79 qUH WS F
be at unit place of first divisor ? THTE T U HIF-HT S B ?

(A) 2 (A) 2

(B) 3 (B) 3

© 1 (© 1

(D) 0 (D) 0

SPACE FOR ROUGH WORK / T @Td & ferd e
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115.

116.

117.

The perimeter of a square is 36 cm and
If the
perimeters of the square and the rectangle

breadth of a rectangle is 7 cm.

are equal, then the area in (sq.cm) of the
rectangle is :

(A) 55
(B)
©

(D)

66
Y7

78

In mathematics education ‘Kolams’ are
useful for understanding :

(A) the classes of closed curves
®)

(C) both (A) and (B)

the synunetﬁes

(D) either (A) or (B) but not both

,é.
3

;f{;
To move from ger%%;@a%)ﬁr pecific

examples is known as &

(A) inductive method
(B) deductive method
©

scientific method

(D) particularization method

115.

116.

ﬁsﬁaﬁwnﬁm%ﬁ!ﬁ%aﬂtﬁsﬂm
# e 7 o &1 AR i el T &
ofTs STER &, A1 S 1 Seea (a At
)%

(A) 55
(B)
(©)

(D)

66
77

78

Wﬁmﬁ‘%‘wnﬂﬁ%m
T R

(A) daw il % ¥ A
®)

(€) S (A) 7% (B)

(D) @A (A) =1 (B) g I T

TS @ -

(a) s fafi

(B) e fafl
() Ff faf

(D) faferrew farft

SPACE FOR ROUGH WORK / T &d & o se
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118. Which of the following statement is

wrong ?

(A) Mathematical
abstract.

concepts are

(B) Mathematics tells us about the
nature.

(C) Mathematical
sequential series.

concepts are in

(D) There is a longical relationship
among mathematical concepts.

119. Proceeding from concrete to abstract is :
(A) Problem Solving Method
(B) Laboratory Method

(C) Play - Way Method

(D) Pedagogie:Me

120. Any curriculum for LErim.ary mathematics

must incorporate the progression from

the :
(A) concrete to abstract
(B) abstract to concrete
(C) open - ended |play

(D) didactic feedback

118. S B § F-T1 HUA A €2

(A) wftrdra SR S Bl €

-

(B) wifire & w3 o H wad €1

(C) Tfrda sraemns F1 HEAG e
B |

(D) IO sEuTona # aifhen dei e
g

110, T v ARG E
(A) e e fafd
@) wanren fafa
() == fafH
(D) trerifies fafd

120. mnﬂnﬁmﬂ:mﬁﬁnﬁwﬁ
ﬁﬁaﬂﬁmwﬁmmm?

(A) T ¥ P
(B) o &
(©) g - T
(D) WEIE WIS

SPACE FOR ROUGH WORK / T® = & o e
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FIFTH PART

ENVIRONMENTAL EDUCATION

121.

122.

123.

Disease caused by alcoholism is :
(4)
(B) Hepatitis
©)
(D)

Lung cancer

AIDS

Diabetes

Environment includes :
Plant and animals.

(B) Interaction among different

elements of environment.
Environmental conservation.
(D) All above.

Due to which chmmerwuomaﬁ that
Rekhas mother told -Rekhamot to sleep
below the tree ?

(A)

Deficiency of carbondioxide gas.
(B) Increase of carbondioxide gas.

(©)
(D)

Deficiency in quantity of oxygen.

Increase in quantity of oxygen.

121.

122,

g=d T
gatawor e

e ¥ vt dad & € e o
(A) RS W HFE

(B) eha v (fetemfen)

(€ T=H

(D) wYHE

T ren e ol o 1 o e 1
(A) Tz SR S|

(B) waierw % fafie WEH H AL
a3a: fmamd |

YA THT HLET0T |
ST O |

©
(D)

ot 3 21 I fe ufted % Hwen i

| s A e S w2

(A) TR SRSTES T W FH |
(B) A SEaTEAEE fu i
(C) iferersT F AEn H F

(D)  siferdter &1 AN st
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0172/ EF-FT/ELG-M

Set - A



Gy

126.

i (A)

. Which of the following plays an

important role
carbon dioxide

(A)
(B)
©)
(D)

. Which of the

environmental
the students ?

(B)
chapter.

(C) Activi

topic. ¢

(D)
in book.

Respiration

Photosynthesis

Ozon layer

in balancing oxygen and
in the atmosphere ?

Structure of leaf

following text book of
studies will be useful for

Activities given at the end of unit.

Activities given at the end of

a' VdAn a
en at diffe la

Activities giv

Animal with backbone is : I

(A) Rabbit
(B)
(©)

(D)

Squirrel

Snake

All the abovi

o

125.

126.

(A)

124, Frefefan @ S aHes 3 st o

F TrsiEe ¥ Wger | wgE e
faswmar 82

(A) TR

(B) WA W
(C) U i WA
(D) ST 9

frot B @ W e S H e
Wﬁaﬁﬁf%ﬁﬁmﬁaﬁ?

il g 3 i § S @1
(B) it s ¥ ofq ¥ 9w B

(). fafafirai weRwoil % e e |

fafafiet e T B S-S
I R |

(D)

ol 97 © ;
(A) =T
@) freed
© w
(D) SudEa wel

Setr A
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127.

128.

129.

Which of the following is a reason of
ploughing the farm by farmer before
sowing the crop ?

(A)

(B) Formation of space between the soil
particle for air.

Reshuffling of soil.

©)

Formation of space between the soil
particle for water.

Formation of space between the soil
particle for micro-organism.

On the basis of which of the following,
teacher will come to know the students
Dyslexia problem ?

(A) By reading
(B) By speaking
(C) By hearing

(D) Both speaking and hearing

Main cause of Anemia in human being
is :

(A) Deficiency of protein
(B) Deficiency of calcium

©
(D)

Deficiency of Iron

Deficiency of vitamin A

127.

128.

m il

forrar I w90 3 gd G @ e
T T wr e A A T E?

(A) I W ee-Tee HTA|

(B) e % FUil % Aed AR % o
EEIGIN!

(© e F S % A el o ferg T
A |

(D) T ¥ il % Hex e Sl F T
ferg Tem ST

forarsr 1 Fr B @ frwd amer R frene
1 ferifera aEn 1 THER W g 2

(A) T H
(B) dieH @

© "I
(D) e @ g a |

ﬂwﬁqﬂﬁm(mm)mgg@w
B

(A) WA Hi FH

(B) FafeEd & HH

(©) e T (STEE) w0 wE
(D) faefim A =i FH
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130. Most important exz:;mple of learning  130. YaifYF TeEqol Y@ &l T ¢

resource is :

|
(A) Area tour i (A) & 9\
(B) Library I (B) TEIHTTE
(C) Survey and proflects (©) wd uE s
(D) All the above | (D) IRT it
131. Which of the followinéisnot arichsource  131. frafafaa # ¥ 37 WEF #1 379 & &
of protein ? i ®7?
(A) Milk i (A) =¥
®) Egg | ®) <
(C) Seafood ©) ¥R =@
(D) Groundnut ol ' | (D) HITHel 1 de
132. Which of the following method is an 132, = & & @t fafy wafawor st T3
exception to method to teach i fafy =1 sm9aE ¥ 2
environmental studies ?
(A) Problem solving, (A) TEE HT GHEH |
(B) Co-operative learning. (B) WEANTIHS f¥Iam |
(C) Guided enquiry. (C) frdfima @i
(D) Explaining through lectures. (D) AR & T |
SPACE‘E FOR ROUGH WORK / 7% &1 & fordt sre
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133. Kharif Crop is shown in : 133, &S wEe S S € i {0LE

(A) June to September. (A) @ famml

(B) October to December. (B) 3R § femmal
(C) January to March. (C) vad A
(D) April to June. (D) % | S

134. The bacterium which lives symbiotically 134 frefefad § @ HA W SEY] TG Eal

in the root nodules of leguminous plant it ¥ westet F w9 H § &l Iit
and fix atmospheric nitrogen is : ;rg:ma 1 Tad AEereH o frerie FTa

(A) Nitrobactor (A) TR

(B) Nitrosomonas (B) FESEHA

(C) Rhizobium (C) TEsnferEH

(D) Xanthomonas (D) SEiEEE

T s R ) § ;
135. Environmental studia;s.::ﬁeaehe::shgul'd 135, AUl STEAA  forert = frm © © 58

focus on which of the following ? g & e ?

(A) On perception of children. I(A) = % e Wi

(B) On views of parents. B) suwEE % R R/
(C) On experiments and examples. (€) wanit wE Femn W
(D) On books and examinations. (D) T giiemadl W
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136.

137.

138.

139.

10% law of flow of energy in ecosystems
was proposed by :

(A)
(B) Reiter

(C) Lindmann
(D) Carl Mobius

Tansley

Why, teaching of environmental studies
is essential for childrens ?

(A) To develop understanding of
morality. }

(B) To develop deep understanding of
concepts. '

(C) To provide knowledge and
importance of environment.

(D)

All the above.

Which of the following constitute a food
chain ? o | | Tt

(A) Grass = Wh&t-a Mﬁr@ ' [”
(B) Grass —a-pe}é;au:&? o o
© i
(D)

Grass — Goat_-i Fish
Wheat — Fish — Goat

In summer, fishes of waste water pond
dies and float due to which of the
following reason ?

(A)

(B) Increase in temperature of pond

Increase of waste water in pond.

water.
(C) Deficiency of oxygen in pond water.
(D) All the above

¥ =l 0

136.

137.

138.

139.

aiftfeerfass o3 § o1 & ag ¥ Gafud 10%
=1 Taom e feam an?

(A) T=

(B) T

(C) TevsH™

(D) el Hiferd

F= 1 YATER ST Yewn S
SETEF © 2
(A) Afaerar =t wwg F fahE |

(B) mamaﬁﬁﬁaﬁwmﬁwl
(€) e Y SEHN T e S |
(D) e Wl
frmfafaa § § $iF TF TR e g ?

(A) ‘EITH-—)ﬁi—)SH’TEI
(B) =M — fatm - ;M
(C) = — FHA — FSl
(D) T — AT — =R

et 3 fedi 1 TR Wt aret el i wsfeal
M FFRI A= T A FNE?

(A) e & Tt e S i st |

(B) sl % Y % arae H AR

(C) e % T H aifEder A A
T |

(D) U T
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40.

141.

142.

143.

Kidney belongs to :
(A)
(B) Circulatory system
©)
(D)

Digestive system

Excretory system

Reproductive system

World health day is celebrated in :
(A) 8 May of every year.

(B) 7 April of every year.

(C) 31 May of every year.

(D) 5 June of every year.

Main sense organs of our body are :

(A) Eyes, Hands, Skin, Teeth, Heart
(B) Skin, Ear, Eyes, Nose and Tongue
(C) Tongue, Eyes, Hands, Legs, Heart
(D) Ear, Nose, Brain, Heart

In a classroom a teacher gave an
opportunity to children to talk withreach

other in a given tOpic; under thisy

gituation :

Children talk intersiipi
of teaching.

(A)

(B) Class becomes indisciplened when
student talk to each other.

(©)
(D)

The process of teaching is going on.

Time is wasted in class when
children talk to each other.

s the process

140.

141.

142.

143.

@)

E[ﬁﬂﬁﬁlﬁ%
(A)
(B) ficE=R A
() s
(D) Wer &

q=A A

Feros AT faam wAET S €
(A) e o 8 HE |
(B) wer 99 7 3Td |

© T = 31 T i

(D) ¥ @ 5 5[ Wl

FEi v % e AR €
(A)
(B) =, FH, 3if@, e T |
©)
(D)

sifa, w1, @, &, @ |

Sy, i@, 719, W, T
I, A, AiETSh, &I

mﬁﬁm%%ﬁtwfﬂmma—a’fﬁ
g 3 S e W sTeeR fean T

I ﬂa‘ﬁfﬂ

=i =Y T e faeon wheen |
oY |

(B) F= HI U argd 8 wem d
SRAAETA T & |

forerm wiRT B W AT

=i %1 Sl S H hET R EHA
T 2 B

©
(D)
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144.

145.

146.

147.

Fibres (Adventitious) roots are found
in :

(A) Mango, Blueberry and Maize.

(B) Wheat, Sunflower and Gram.

(C) Sugarcane, Maize and Bamboo.
(D) Sugarcane, Pumpkin and potato.
The use of poems and story telling in
teaching of environmental studies helps

in which of the following ?

(A) Knowledge of Language.

(B) Knowledge of cultural diversity.
(C) To make subject interesting.

(D) To promote ability of imagination.

Socio-cultural environment of human
being is :

(A) Climate, Rain, Soil.

(B)  Building, Road, Historical| Places.
(O SsuriEarth, Sky. = @08 [
(D) Minerals, Rocks, Animals.

Sameer asked a question to teacher that
why food items perished during the
summer and which of the following is the
reason of that ?

(A)
(B) Increase in number of Micro-

Presence of Higher temperature.

organism.
(C) Higher rate of metabolism in Micro-

144.

145.

146.

147.

WER (sryeenfs) s faod o wid € 2

(A) =W, STHA UE T |
(B) I, g we =
(C) =, Haem U |1 |
(D) T, St TE 2

THE AT & TR W wfamst aen
el =1 WA e § 9 frod gerar s
®?

(A) ST ST 9 |

(B) wiERfas fafavm =1 3m

(C) oz =1 Iem @ m H

(D) e A S Al I w5 H |

I %1 gt Fihfas qafawo § .

(A) Sierary, &b, fagt)
(B) W&, ¥=sh, Ui e |
(C) 4, geatt, atrermy |
(D) &, =g, =

THR A forers & vva e fr ot S i
e | it T 81 el § 2o famfefeg
T 1 HROE 2

(A) = a1 8
(B) gl i WA § g 3

(C) Wewsital § dig w99 2|

organism.
(D) Break down of food items increases (D) e o= | @ wnEh # e
due to higher rate of metabolism. fter & ST ¥
SPACE FOR ROUGH WORK / T% %14 & foar g
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148. In India Marriage Law Act was enforced
in the year :

(A) 1955
(B 1976
(C) 1956

(D) 1986

149. Which one of the following is a hurdle in
path of Social development ?

(A) Division of labour

(B) Right to Education

148, s # feg Fr sl ] A H
CLEE

(A) 1955
(B) 1976
(C) 1956

(D) 1986

149, e T & Tr F e A

(C) Communalism ) SR

(D) Co-operation i : (D) . TE-FIfal .
150. Which one of the following diseases is . Tmfe H ¥ A o e dEsen F

caused by a protozoan ? T 7 W’Q@%T’ :

(A) Typhoid (A) T

(B) Malaria wAfr .

(C) Amibiasis

(D) ~Anemia

-00o0-

() |
(DY

-olbo-
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